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Question Number : 1 Question Id : 8135611441 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following plants with diseases they are resistant

1. Pusa Komal

1. Hill bunt

rJ

Himagiri

. TMV

Pusa Subhadra

W

1.  Bacterial blight

4. Pusa Sadabahar

1v. Black rot

$08 HOSS® 2w w0 TG DB 3}3&3 269 HEDS

1. Qe 2065

1. o3°® 208

2. 00

. Odod

3. D S

i, ergBOLES eh Sren

4. HPF DT 6

V. B9 L%y

AP EAMCET 2020

-

el

collegedunia:s

India’s largest Student Review Platform



AP EAMCET 2020

Options:
_— (1-1), (2—1ii), (3—iv), (4—1)

, o (=i, 2—1), B-iv), (4-ii)

3 % (1—iv), (2 —iii), (3—1), (4—1ii)

g i), 2—1v), (3—iiD), (4-1)

Question Number : 2 Question Id : 8135611442 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following characters 1s not a difference between dicot and monocot leaves?

UGV D2 DTV, VSOF D2 DTV 206§ oS $08 T8¢ 8o 0

Options:
Differentiated mesophyll

- DB BN (10 DTG

Distribution of stomata

, 3 DS Gomre DIGD

Presence of chlorenchyma

P88 Seazrerd) €0A &ocod
3.¢

Vascular bundles

4 % TS Qoren
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Question Number : 3 Question Id : 8135611443 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Common vector less gene transfer method adapted in animal cell

B (T 208 STVS” FEOROT TIPS 6IrS 2R 2289 Sosw HG3

Options:
Microinjection

0 P SUEA 290HZ DD

Gene gun

) 1 85635

Biolistics

% Alevilet

Disarmed pathogen vector

i 5ot 38 AR Bis°d TS0

Question Number : 4 Question Id : 8135611444 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Bacterial Mesosomes does not mnvolve in

wgba‘iré‘ N 2)33“56533 Sod T7S” FE'Y

Options:
1. %
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Respiration

F(RSAD

Secretion
o TOSAD

Protection

. o 080

Replication
4 % DBS3

Question Number : 5 Question Id : 8135611445 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The opted herbicide to kill only dicot weed 1s

BLEY D2 2L O AGD WYL TE M) TIS0

Options:
ABA

1. %
2"@5 IBIX

3, x GA3

", 2.4-D
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Question Number : 6 Question Id : 8135611446 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following

Plant Economic Importance Family
a. Ashwagandha i.  Medicine p. Fabaceae
b. Tulip ii. Fodder q. Liliaceae
¢. Crotalaria iii. Ornamental r. Asteraceae
d. Allium Sativum iv.  Spice s. Solanaceae

SoRT° AR BADBLDEW

Qs;; 308 a0 Stnowo
a. ©¥(ol i BHdo p. 8%
b. w@:: . DITRAW q. 9
¢. SJdasr iii. o050 . 88
d. oD VO3 iv. D S, O

Options:

i (a—i—s), (b—ii—q), (c—ii—p), d—iv—0qg)
5 % (G—W—8) A —=i—8), (E—5H=—p), (d—ir—n)

3 % (a—iii—s), (b—ii—q), (c—i—r), (d—iv—25s)

4% (a—i—s), (b—ii—q), (c—iii—p), (d—iv—r)
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Question Number : 7 Question Id : 8135611447 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The dominant phenotype 1s dependent on which one of the following?

QPGS BB Grdo S0 TS BIPR BTEHET?

Options:
Functioning of modified allele
.':U"dob Dol oﬁmd& 351’.)3:: o?mszj OB D

1, %

Functioning of unmodified allele
. éJ“d):) Wo&) Oinﬁé DSQ}JQ 0333525 D& D
iz, - =

Nonfunctional enzymes

5 SOIF Gard DoZIwen

Nonfunctioning of unmodified allele

i Soi° Gored ;ﬁrd):) Do) chﬁé :)5&)3::

Question Number : 8 Question Id : 8135611448 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Practice of mating of superior males of one breed with superior females of another breed is

208 2e0rd 2 2AS 8¢ Dewrd el 2D R0206),0 BAHE)

Options:
Inbreeding

9R): ZWoRo
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Outbreeding

5 % E.J‘:J",S POPALE T

Out crossing
&J‘:'J:S oD 0

Cross breeding

4 POFAL AN

Question Number : 9 Question Id : 8135611449 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Assertion (A): Leghemoglobin 1s Oxygen scavenger

Reason (R): it protects Nitrogenase enzyme from Oxygen

DIyBo (A): OF FArFDS 882 D) Donb
526620 (R): A8 AE'2IE JoZd & €382 Aow) B£.otO
Options:

A 1s true R 1s false
‘A’ V0 o0AR. 'R DOADIS 570

A & R are true but R 1s not the correct explanation for A
‘A’ 208050 ‘R’ %8 9003d. 50 R’ 038 ‘A’ © DOADA DHGE 5P

A & R are true R i1s the correct explanation for A

5 ‘A’ 080D R’ D0 2000). R 0938 ‘A’ S0 28IV DHGE?

R 1s true A 1s false
» R V0 0oH8. ‘A’ OIS 57
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Question Number : 10 Question Id : 8135611450 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following codons in the columns I with their amino acids in column II

Column-I Column-II

1. GGU 1.  Methionine

2. UUU 1. Stop

3. AUG 1. Glycine

4. UAG 1iv.  Phenylalanine
v. Valine

20068 HHVS” &) STHA 2 D HWNS” &) VDS wared ad dabod

SHR-1 SOD-II

1. GGU L AW

2. UUU il eod £t

3. AUG i, A

4. UAG iV, DS VO
v. 309

Options:
1 8 (1—v), (2—iii), 3—iv), (4—1)

, x (1—ii), @—iv), B3—V), (4—1i)

3 ¢ (1—iil), 2—iv), 3—1), (4—1i)
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4« (A1), (2—ii), (3—iii), (4—1)
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Question Number : 11 Question Id : 8135611451 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following fungi with their common names

Column I Column II
1. Ascomycetes 1. Imperfect fungi
2. Basidiomycetes i1. Sac fungi
3. Deuteromycetes 1. Algae fungi
4. Phycomycetes 1v. Bracket fungi

208 3Dorordd T8 FTrom TIANS 2 DEBSd

SED-I SED-1I
1. e 208D i. @o00y5 3Dogso
2. BHAIrHBD ii. A& Dod (3Doo)
3. GrEEHED iii. 330 2Dogo
4. pEHED iv. &S5 Doh (3Dogo)
Options:

1. % (1-1), (2—iii), B—ii), (4—iv)

2.~v"(

1ii), (Z=mw), (31}, (4—i)

3 % (1—d), 22—, 3—i), (*—iv)
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4% (1—iv), (2—1), (3—i), *—1)
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Question Number : 12 Question Id : 8135611452 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following column I with column IT

Column I Column II
a) E coli 1. 5386 bP
b) Human ii. 48502 bP
c) ¢ X174 1. 4.6 X 10° bP
d) Lambda Phase iv. 3.3 x10°bP

20B°e5° S | A S0 Il & 29DGTOSAD

ol I Sodo II
a) & 8o i. 5386 bP
b) A ii. 48502 bP
c) ¢ X174 iii. 4.6 X 10° bP
d) ordr 2% iv. 3.3 x 10° bP

Options:

1.

5 (a—ii), (b—i), (c—iii), (d —ii)

s« (a—iiD), (b—iv), (c—ii), (d—1)
AP EAMCET 2020
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4% (a—iii), (b—ii), (c—iv), (d—1i)

Question Number : 13 Question Id : 8135611453 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Engler and Prantl published a phylogenetic system in the monograph

Dofi6 HBKD o 0 & ArJTD &' I8 IS (30 HBBoeEd

Options:
Die Naturlichen Pflazen Falmilien

i ATEOED FoBD DAOADLS

Historia Plantarum

bgboﬁr é"oéJ"du

Species Plantarum

R 3-505 é"a&)’do

Genera Plantarum

: 54 é"aé.:l‘éc

Question Number : 14 Question Id : 8135611454 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Major structural components of cell membrane are

?&éejsr:m e5°D S0 AT EFS) S BRODVLST

Options:
Fats
SR

Oils
L AP

Steroids
- 230“0‘.&)(‘@

Phospholipids

DI\ ODE
PR

Question Number : 15 Question Id : 8135611455 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Homogamous species 1s

D0 Do Daren

Options:
Funaria
stis&oﬁr

1%

Cladophora
) v TETG
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Question Number : 16 Question Id : 8135611456 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Age of the tree can be calculated from

DT DDA B Aodl T8) J°c0?

Options:
Annual rings

, 0S8 deairren
e -

Phloem

’3E S0

Pith
65

Xylem
3 EO)

Question Number : 17 Question Id : 8135611457 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Which of the following is wrongly matched?

963e5° 298 900D 2 S=DA?

Options:
Sugarcane- Kranz anatomy

WOSO- SP0d wcébtlméea;:m
1. ®

Blackman- Law of limiting factors

, TENI- 05650 LT oS0
21

PSI- P7go

, o SOOBER |- Poy,

PEP Carboxylase- Bundle Sheath of C4 plants

4,

PEP s**o"aébzrfa- C4 08 © T°IS° o2 SO

Question Number : 18 Question Id : 8135611458 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which step in TCA cycle. substrate level phosphorylation occurs?

TCA SHeado 5° @ &$e5° vag gcm e5° :J":Jﬁ:)waé 280 ?

Options:

Conversion of 1socitric acid to oxalo succinic acid

QY DGS 3300 G5 S DEIE BT DIy BoADYYED

1.8
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Conversion of u-ketoglutaric acid to succinyl COA

a-$65°10Er88 e3:00 DS 1DS §-DoZD0-D T ATE>y BoBJIDYE

Conversion of succinyl COA to Succinic acid

5 o PSS §-QoB0-2), VSIS e300 JAI°EY BodDYH D

Conversion of succinic acid to fumaric acid

. i RSYIS e300 L(VOS e:orT ATy BoBJY D

Question Number : 19 Question Id : 8135611459 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Enzymes. which help in electron transfer are

DUE'S BTErS” GDAITADE o

Options:
Cytochromes

285° 20y
0 =

Proteases

L JOabE e

[somerases

3 % DV 0E

Nucleases

- msédisé
4, % o
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Question Number : 20 Question Id : 8135611460 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Phloem sap 1s mainly

DS S GRS’ SogferT

Options:
Glucose and water
ArED 2803 DA

1.% o

Hormones and amino acids

, 5 TR0 208050 S esren

Water and sucrose
3 @ 6 HoBasw WED

Amino acids and water

4 x O esATen 28050 A

GOt

Question Number : 21 Question Id : 8135611461 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following column I with column II

Column I Column II
a) Chlorophyll-a 1. Yellow-Orange
b) Chlorophyll-b 11. Yellow
¢) Xanthophylls 1i1. Blue Green
d) Carotenoids 1v. Yellow Green

205’ Fu0 | A S0 Il & 28D6c0:90

oo I Sod II
a) §8HS-a 1. DAY)-e500E
b) §85e-b i, DAY
c) oSSy iii. 28 ZEVSN
d) s8OTTo&y IV, DALY LT

Options:
, x @—iv), (b—iii), (c—ii), (d—1

) % (a—1), (b—ii), (¢—iii), (d —iv)

s o @i (h—W), (c—1), @D

4 % (a—ii), (b—1), (c—iii), (d—iv)

Question Number : 22 Question Id : 8135611462 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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In which pair both the plants can be vegetatively propagated by leaf pieces?

S0 75" @ A S TR0 RIS DY B0 BT 2E0DO?
Options:
Agave and kalanchoe

1 % OTTD OO SPeron)alr

Bryophyllum and kalanchoe

5 o 2OV BCIL STUro)aT

Chrysanthemum and Agave

3 % SProB JBai D

Asparagus and Bryophyllum
i " 6D B0 ATV

Question Number : 23 Question Id : 8135611463 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A horizontal underground stem 1is

NeTrodd z_.bvdda S*olio

Options:
Corm
1 % STo&o

Phylloclade
> FT STolio
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Rhizome

§'aw
3,0 %

Rhizoid
4 % SO0 Bodod)

Question Number : 24 Question Id : 8135611464 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Select the neutral amino acid among the following.

$oBTS” SOV S €200

Options:
Lysine
| % OO

Glutamic acid
HAIPeS e

2ll o o3 o

Valine

2 o D

Phenylalanine

L x DR 90DD

Question Number : 25 Question Id : 8135611465 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
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Choose the incorrect pair of applications with methods

S0HIT*S° HSoH Aodatn DEBOVD 2B 5B
Options:
ELISA- detection of antibodies

1 = ELISA- ARV LBt

PCR- mutation in genes

5 % PCR- 2:0) &9,036T70R0 A0 e

DNA fingerprinting — Forensic sciences

s & DNA 20656 2dotdof- DEHBT GBS FREW

Gene therapy — Parentage disputes
4 o B0 BB~ 3 Sothdo SrEren

Question Number : 26 Question Id : 8135611466 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following column I with column II

Column I Column II

a) Z- Gene 1. Inducer

b) Y- Gene i1. Galactosidase
¢) a-Gene 111. Permease

d) Lactose 1v. Transacetylase

208T°¢5° S0 | A o Il & 28D6c050

oo I oo II
a) Z- 204D 1. 2000 S°ESAW
b) Y- 2204 i. TSENES
c) a- 20D 111. b&édi)é,
d) e.rg -3 V. Py QOTE

Options:
1. % (a—1i), (b—iii), (c—iv), (d—ii)

. (a—ii), (b—iv), (c—iii), (d—1i)
., @=iD), b—ii), (c~iv), (d—i)

4 % (a " ii)r (b T iii), (C = i), (d — iv)

Question Number : 27 Question Id : 8135611467 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Which of the following 1s not an advantage of selecting drosophila for genetic studies?

S0t " 20y 00T B/ EV D) omﬁ IS Y SERAD 528

Options:
Undistinguishable
1 & DERCDTIE

Shorter life cycle

5 % SN 2 ST

Grown on synthetic medium
| S1Q3 0Ird%0 2 DML

3, %

Produce large number of progenies

VRS :aca:lges‘ QoSO GSA SOV
4, % G

Question Number : 28 Question Id : 8135611468 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

First transgenic cow with human alpha-lactalbumin gene 1s

G A eery TTFTRND RGNS SFAD BADBIIED 8.

Options:
Hinny
9

.rbl

1.%

Mule

; :.:mvﬁe.i
2. %
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Dolly
3. % &9

Rosie

4. v B

Question Number : 29 Question Id : 8135611469 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The use of which one of the following bacteria has led to probiotics?

806 TIS° D erg8asr Jwairdsy ErJodoutos® & ¢yE&?

Options:
Acetobacter

985S
1. % &

Lactic acid Bacillus

eSS 35 eV
B il S S

Propionibacterium
DI ersdodo
3. % e

Clostridium

sehdodo
4% 8

Question Number : 30 Question Id : 8135611470 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
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Fertilization in angiosperm 1s

358 Dereds’ DOHSOn

AP EAMCET 2020

Options:
Oogamy

1 % ok Vodlrio

[sogamy
PERSISVRSTleb b el

Anisogamy
3 % RV VoI flo

Siphonogamous oogamy

4. TPReT0d 90 Do o

Question Number : 31 Question Id : 8135611471 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Match the following

Cross Prototype Genotype
a. Monohybnid b L p. 1:2:1:2:4:2:1:2-1
b. Incomplete Dommance i, 3:1 g L&
¢. Back cross i 9:3:3:1 % 2l
d. Dihybrid cross v 1 x 11
0BT 2BDGEAN

20505600 B30 CRU(RRIY
2. DSR0SGEAW i 1:2:1 p. 1:2:1:2:4:2:1:2:1
b. ©oRrd warddSAn | i, 3:1 q 1:2:1
€. DT VoSO iii. 9:3:3:1 r. 1:2:1
d. &g DoSGea0 iv. 1:1 E 21

Options:
. % (a—i—p), (b—ii—q), (c—iii—r), (d —iv—25)

, o @=ii—q), (b—iii—s), (c—i—p), @—ii—1)
3 % @—1—1), i) (c—H—p). (d—iv—s5)
4. % (a=iv—gq), (b—iii—s), (c—i—p), (d—ii—-1)

Question Number : 32 Question Id : 8135611472 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 )
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Temin worked on which virus?

3D D DED W& D BT

Options:
Rhino virus

- BS 6D
‘I- % a_ |

Dengue virus
2. gy P

Herpes virus

0N DO
3. %

Retro virus

4 v O DO

Question Number : 33 Question Id : 8135611473 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The pressure exerted by the cytoplasm against the cell wall is

63 SIS H{BBSMT SEBIIAW Ser B EDo

Options:
Root pressure
| % DO DESo

Pressure potential

- 38 0
2, %

AP EAMCET 2020 )
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Imbibition

3 % Do

Turgor pressure

D\ DEDo
4.4 °

Question Number : 34 Question Id : 8135611474 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following possess Ovule without integuments?

S0BT°eS° SI Gareh o) SOFRO

Options:
Helianthus
I 10T eI

Loranthus

5 @ TT00

Maize

208). D
3, % TG EN)

Datura
nn S

Question Number : 35 Question Id : 8135611475 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
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Multiple epidermis on dorsal and ventral side of the leaf 1s found in

AP EAMCET 2020

DG DTEC Serue” wirov erir| wh)o sHHNG

Options:
Nerium

| o DB

Zea mays

5 % B0 2

Ficus Bengalensis

L x 259 BTSN

Mangifera indica

4 % AToRDE Qols®

Question Number : 36 Question Id : 8135611476 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The spathe in Musa is a modified

e96563e5° 208 B SrdrocdSo?

Options:
Petioles

| DB D8

Bract
> Q)W

AP EAMCET 2020
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Bracteoles

2 C3F4N) ;‘93‘3..13 2D

Question Number : 37 Question Id : 8135611477 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The mullenntum ecosystem assessment grouped ecosystem services. Choose the correct categories

DGAODD B0 DI BRI} 30 SR V0L DV DB O DrTed
Options:
Learning. Provisioning. Regulating, Cultural

. % RN IR AL, NHER EFD DD, JODVOBETBY S DO, VOJ)E WVOLOE V-

Supporting, Provisioning, Regulating. Cultural

el OO QYPOLS NI, DMSR) AP DR, ACDOGEFS)S DD, VOR)HE VORI VDD

Extracting, Regulating. Cultural. Learning

3 % R5800 VDD, AODOGETALE DL, NOR)HB DOLIOE DY, NENEID PO

Extracting, Supporting, Cultural. Learning

4 % 050608 VOV, BT°0 QYPOLE VDLV, R0 HB Vo0 e, écbbeb:b e

Question Number : 38 Question Id : 8135611478 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The development of an embryo from an unfertilized female gamete is known as

DOASGE BoG @ Doaird Drdw Lol Doto ©D3)B Dot

Options:
Parthenocarpy

1 % Q2SI

Parthenogenesis

5> & 29008 2o

Apomixis
3 % RO DB

Poly embryony

4 % WV DoCS

AP EAMCET 2020

Question Number : 39 Question Id : 8135611479 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a girdled plant. the position of the bark above the ring on the stem becomes swollen because of

DO (10 :mgbej‘ SVOIAS P S0t BOC ertio ERNE™IS 5CE0

Options:
Absence of Xylem

| % PO S dodEo

Absence of Phloem
> G Smereo 5 DodCo
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Absence of Bark
806 5" DodEo

Absence of Pith
. BDY 5 00
4, %

Question Number : 40 Question Id : 8135611480 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Endomembrane system doesn’t include which of the following?

308" 9080 BD DDV’ GoEID IB?

Options:
Endoplasmic Reticulum

| % €906302 GOfEFOaD

Golgi Complex

5 % ﬁ"g ‘F{)Gggﬂ

Lysosome

3 %Qﬁ"fb‘u

Maitochondnia

5@ ¢S arod ol

Zoology

Section Id : 81356129
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Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 41 Question Id : 8135611481 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the wrong matching related to cockroach

ES“%GSS) RotloHow) VOS5 2¢ (HBood.

Options:
Sound receptors — Anal cerci

. TO (PSTen — P aITorTen

Development — Paurometabolous

DI ~ Jo° LSV
F

Spermatheca -present in the 8th segment of males

RDOLBS — YDEDRRYL 8D oGNS GotLod
3. ¢

Oothecae-14-16 eggs.

&5 — 14-16 (oo
4, % =

Question Number : 42 Question Id : 8135611482 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which two among the following four statements are mncorrect?

1) Fructose 1s generally absorbed by simple diffusion

2) The digestive wastes. solidified into coherent faeces 1n the rectum mitiate an endocrinal
action causing an urge or desire for its removal

3) The food mixes thoroughly with the acidic gastric juice of the stomach by the churning
movements of 1ts muscular wall and 15 called the chime

4) The secretions of the brush border cells of the mucosa along with the secretions of the
goblet cells constitute the succus entericus

300 RN TRUD HIVIAVO B3O ST &) Tord PIVTVD Ao
1) PEE FTronALT A0V TR HIS 6 F a0
2) 2gaw 5 O HITRD OQ TYERD 56 VDTGV a0 oeFdE S0
Jr0ooc) LD Dowocd 5B &DAE
3) égam} A S0GT70 SO ©38) ofi 5c5DSen 267 L3OO BOG GAD 232300’
0008 BN 38 BoEd
4) s HoAWE” (1 F'A Mok (0 S0 Faren b TEE Swre dng) Farew

1)) ‘;osbﬁj 20836570 e90trd)

Options:
v D&Q)

> % Q&)
2 % )&

L x W&

Question Number : 43 Question Id : 8135611483 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Regarding ecological food chain. man 1s a

e535505)) HLDAN0E) ST w8

Options:
Producer
1% &éy;gc?d)

Consumer
2 3:)033"“53‘6)

Decomposer

3 % :J'CJJ‘)KJQ-S"Q)

None of these options are true

4 % BT VOIS 57

Question Number : 44 Question Id : 8135611484 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A free-living round worm 1s

& S08 T°S” DT OINS oG HBAW

Options:
Enterobius

| % DoBBDADD

Trichinella

_ 83Jer
2.8 &

3.
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Rhabditis
L af AT
=

Dracunculus
4 % TSSOSOV

Question Number : 45 Question Id : 8135611485 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 1s mcorrect?

1) Neuroplasm of neuron contamns myelin sheath, neurofibrils and Schwan cells

2) Cyton of neuron contains smaller branches called dendrites: theses conduct impulses away
from the Cyton

3) Myelin sheath 1s not continuous, It 1s interrupted by gaps called nodes of Ranvier.

4) A long branch that arises from cyton 15 called axons which carry impulses towards the cyton

& 808 IS D0 3D YOS DBocol?
1) esm 2o Dorgand” b Ferb, ¢ ArsyBosoen b s Smren Gotra

2) G50 0208, Barad Eog6y e TiTaui §9AD doymo SDA eotron. @d Sedirdw
oc erir 638" ¢ PIGTOR BodI0n

3) 0B A BDID) AT G0, B’ BTEIAW G ) TG SN otrdd

4) e Biraw od &0 8 w8 T ATYD) ToFELI BOLPD. oIS
TE DSOTVND QB0 T6 Sndatod) Bodon
Options:
1. ¢ 1
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Question Number : 46 Question Id : 8135611486 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

According to most conservation biologists. the single greatest threat to global biodiversity is

T Dol 2G| VoGLET TRV VA0 2 PIT(VS F R0t IR SGEA

Options:
Insufficient recycling programs for nonrenewable resources.
RDADSS BOHS AWV PBDE BFeH DABLL TS TP

Global climate change resulting from a variety of human activities.
- S0°RD WO D30 ForfHPaw D 288 TTrH0n 20760\

Stratospheric ozone depletion.

FE5° 006 Dok LE'S SHT D
3.% &

Alteration or destruction of the physical habitat.
DIPR FAHE 3T TR T 2078y Dasoe

Question Number : 47 Question Id : 8135611487 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the mcorrect statement among the following
1) Fore limbs 1n mammals such as bat. chetha. whale and man 1s an example of adaptive divergence

2) Malthus stated that the population does not grow exponentially because of limited resources
3) Hugo de Vries stated that evolution 1s a directional process

4) Orgamsm with shorter life span evolve faster than the organism with longer life span

$0BTIS" 0 52 YIS Docsoc.

1) (dyoren AR $y0T7R JFTGoraw, S0V DAL AFIYE BRLPO BOTC

0
2) HODAT 6:) HIDODON BTL QAL HYAS” DOASYIEIS TR YR VA BoTe)
3) &Pofi € D0 Aadbrranin w8 B8 piab ©d BT M
4) otyd 2I50a0 &9) Be3a, ALVE S50 &) B0 Yot BN OB

Options:

‘I.*’"1

| B

2:.®

Question Number : 48 Question Id : 8135611488 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A prolonged constipation may cause

égsvu Sovndse SO €D

Options:
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Dysentery
. I BB

Ulcers

LS

Hemorrhoids

SOOI
3. ¢

Cholera

Question Number : 49 Question Id : 8135611489 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the type of bone with proper example

S0HT°VS” DB oD ¢ dosol

Options:
Cartilage bone — Bones of limbs. girdle and vertebrae
mg,qmricg DAWSE — (AT olTeD), DDV, DAY YR

Sesamoid bone — Ulna
DARATONE DS — U

Investing bones — Cranium
| ST\ TR — SJPOAW

4,
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Visceral bone- Ribs

oSG0 DOWVSLD ~ DS) B20SeD

Question Number : 50 Question Id : 8135611490 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Taxonomic hierarchy like kingdom. class. order. genus and species were introduced by
(1) . Taxon phylum was introduced by (2)

505066 oBRVG” DB, DarriB, S0, VS, A B VIV PIIDITE

(1) bleloviy é.J’S"Df), D020V SR bgéa"& (2)

Options:
1-Haeckel 2-Carolus Linneaus
- 1-238¢5 2-93&0&35
1-Carl Woese 2-Haeckel
5 % 1-S°§ & 2-a3°8¢5
1-Carl Woese 2- Carolus Linneaus
- 1-5°6 &5 2-93) 00
R A

1- Carolus Linneaus 2- Haeckel

1-0.3&05353 2-33°8¢5

4. %

Question Number : 51 Question Id : 8135611491 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Nuclear membrane 1s absent in

& S0 788" So@s Btio T BaPew

Options:
Volvox

H
% TS

Nostoc

2.0 TS

Agaricus
3 DL D

Penicillium

H\daHd
B, % IR

Question Number : 52 Question Id : 8135611492 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Choose the correct statement regarding filarasis,

1) Third-stage mfective nematode larvae enter the mosquito gut when the mosquito bites infected man.
2) Nematode larvae mature 1nto the thread like adult worms 1 human gut

3) Adults worms produce microfilariae have diumal periodicity

4) A mosquito ingests the microfilariae during a blood meal

DETBATNN &) 0810600 B 900 PN HBowoC.
1) 750 (00 arddy B HEIYY, Drcs 53 Consen B Bfo TYaw D8 Scoarow
2) e efOTvaS’ DG eroien Grox) St otd e daenr HOED Soceran
3) e dapen 6oy S DEPTBaITD Drie BHEHIAN BOWD
4) 70 D056 ArdPED SrOE Ba DY ogand en DE pddaso Cowsen B
SFETY) DA

Options:

1. % 1

Question Number : 53 Question Id : 8135611493 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If most individuals 1 a population are young, why s the population likely to grow rapidly
in the future?

w8 2Trd’ 0OS AP HREPHLD BONS BB o DHMBIN) AT AFIRVE?

AP EAMCET 2020 )
collegedunia:s

India’s largest Student Review Platform

Options:

el



AP EAMCET 2020

Many individuals will begin to reproduce soon
OO SPOANS° TR 2dHew LB(S\D BB WA SDoeIP0D

1%

Death rates will be low

, e 008 Do S8

Immigration and emigration can be 1gnored

3 % DVRTHLAD, SVVY DA GEDLoBEHDG

All of these options are correct

& 2078000 abl 20 ©90HD
4.

Question Number : 54 Question Id : 8135611494 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Rachel Carson’s famous book “*Silent Spring™ 1s related to

036 561D TDD DTS Doh” Do BIE VotoBDDE?

Options:
Population

| % BT

Pollution

SPe) Sa
2. v

Ecosystem

- RIH00 SIS
3. % w
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Community

4w PETWO

Question Number : 55 Question Id : 8135611495 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Which of the following is/are correctly matched?

1) Statocysts - Organ of balancing in Arthropods
2) Radula - Rasping organ for feeding in Mollusca
3) Choanocytes - Collar cells in Cnidaria

4) Proboscis gland - Excretory organ in Hemichordate

S08 T7835° DB 900 23 (w) Botiod.
1) gnes‘i:fgb - ugﬁ“w Byees” -;omw?ga €9:503)9:0
2) Targ- S0 BYVS” LU0 erod) TS SEre
3) EoSPSy- BB EpHwds” Svb St
1) BATRPEG B0 (o ~ TFASVEr BHOS” DVGH ©IADDB

Options:
Only 1 and 2 are correct
1 % 1.2 30830 28 oD

Only 1. 2 and 3 are correct
5 x 1.2.3 00 S8 28 00

Only 3 1s correct
3 % 3 PG VO VOIH

Only 1. 2 and 4 are correct
4 v 1. 2.4 00 Srgdd DB ondd
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Question Number : 56 Question Id : 8135611496 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following Mendelian traits is present on the 5 Chromosome?

8083°J¢° 53 §Ar&’anp &) 2oadabd vgeo

Options:
Pod Colour
1 « 50D GofDd

Pod Shape
5°0 e95°Co

Pod Position
s°0% gvxm

Flower Colour

axyo Gofd

Question Number : 57 Question Id : 8135611497 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement(s) are correct regarding fission in Euglena?
a) Nucleus undergoes meiosis.
b) Gullet and stigma duplicate but flagella do not.
¢) Exhibit transverse fission.
d) During fission V-shaped cleavage forms 1n the posterior of the cell and gradually
splits the entire cell mto 2.

Sotd 370" AOATT® A(EING RotioBow) BB BOM HILsM(eD) HHBotsod.
2) So@Ean LGN DHFRD 2AYD
b) S50, SBRE), BYAEEEEAN Dot SR DSTRAD DR Boddd
c) 096 BIEANG BrYR)
d) DS deaHBwe’ Horedin &° V' 056 ME D6\G DIGL Bocd
SETLIMT 2)ZE 0TI

Options:
Only a 1s correct
| % @ Q0TS VO VOIS

a.bandd
2. % 4. b.. .‘5.)6&'5.1) d

Only d

5 x 4@

None of the statements are correct

4 v D DIBBBED VBAIS T

Question Number : 58 Question Id : 8135611498 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Study the following statements and select the mncorrect ones.

1. ‘Bt" in ‘Bt cotton’ indicates that 1t 1s a nongenetically modified crop produced through
biotechnology.

i1. The anticoagulant *hirudin’ 1s being produced from transgenic Brassica napus seeds,

ii. ‘FlavrSavr’ transgenic tomatoes remain fresh for a longer period than the normal tomato variety.

iv. Golden rice 1s a transgenic variety of Oryza sativa, which 1s rich f-carotene and helps to prevent
colour blindness.

308 PIBTON 3O oI’ 28 52D hBodol
L Btpd’ € Bt 0 D0aw 2530388 HOS TG0 20§ ArdyC TIeRER 87 P06
i, SPEOED BIBE DO oGS S TP Deroel BAFOIF®
tii. ‘FlaviSavr’ Arer FErom QTR ot J5) VDD T Eotran
v, 202 DET D Lo 9 Awg) @[ ardyC oS 9. a8 B 3OO edsaT
&0C DToUBD TPE0C° GOS0
Options:

(1) and (11) only

| o () @0Bax (if) ared

(1) and (1v) only
5> % (1) a8 (1v) PEHD

(ii) and (iii) only

o s (i) Bax (i) argdo

(i). (ii). (iii) and (iv)
4w (). (). (iii) 20dax (iv)

Question Number : 59 Question Id : 8135611499 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The Yellow Colour of Urine of vertebrate 1s due to

DSOS AT DD Gorsd (e S°Ce0

Options:
Uric Acid

| x O30S o

Keratin

5 % ST

Urochrome
]
5 o 078 S

Bilirubin

4% [ALSVeb AN

Question Number : 60 Question Id : 8135611500 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Haversian system in bone doesn’t have which of the following characters

FHBADS DIDRL Not)oBow) $08 VLTS’ DO =IO DA?

Options:
Haversian canals are found in bone matrix of long bone, like humerus of mammals

26008 (0 202D S0 TETE DANE A EeS sPHB0HD LR Gotraw
1. % - 0 N zS

haversian canal. its lamellae and osteocytes form a haversian system

- SRR v, T8 DB HBokN BTV SV FIGOHI S0 NV

2. %
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Volkman’'s canal connect communicate haversian canals

2 % DD UL FBC TIPS LS e WG Gotraw

Also called osteon and found only in vertebrates such as fishes and amphibians

N A BROIFD B EXET DT, B B, GHOLET Sof) VEIWETVY ArI EIDRA
4. ¥

Question Number : 61 Question Id : 8135611501 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Holandric genes are present on

reroaS 20D SOAIG

Options:
Autosomes
- 7008 §ard e

1, %

Y- Chromosomes

o0 §rE A0

X- Chromosomes

3 % X- §r&D

Autosomes and sex chromosomes
, 1 T008 20Bosn Pohs §arE Anen

Question Number : 62 Question Id : 8135611502 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A woman with albinic father marries an albinic man. the proportion of her progeny is

UE)?)S dog, AI0E), LA w8 0T\ QYA DT WAE 0 B2 VT AW

Options:
2 normal : 1 albinic
2 oo ;1 LR

All normal
090G TG

All albinic

,, VOBEr ©TIS
3.

1 normal : 1 albinic

1 o6 : 1 T8
4.

Question Number : 63 Question Id : 8135611503 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Phylum cnidaria 1s also known as

560 “JEBALT" A & DGO S DV

Options:
Flat Worms

x WD YHdoren

Coelenterate
5 @ DT3B
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Porifera

3 8 ?6:30“

Ctenophora

4 S3No

Question Number : 64 Question Id : 8135611504 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A Flat area that runs through axis 1s

950 o) D°AD w8 DDV HBFo

Options:
Symmetry
J 290

1.8 © ©

Plane

Cavity

L % 960

None
4 % OSA

Question Number : 65 Question Id : 8135611505 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

In human females, meiosis-II 1s not completed until

Q0 L0068 DRD-IT DBIIHOL Jresd

Options:
Puberty
1 % Q35Do

Birth
. 2000

Uterine Implantation

Dol DAFDD
3, % @

Fertilization

4 v VOESGE0

Question Number : 66 Question Id : 8135611506 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The hyoid bone 1s the only bone that

S°0B8S DOSGD AL

Options:
Protects the elbow
| BN BE0ed

Is vestigial and serves no purpose in the body
208 09533 B0, AIS D DA T
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Forms the tailbone

5 x O DANVS DB GTI

Does not articulate with any other bone
4 v RS0 JANVEVS SVII

Question Number : 67 Question Id : 8135611507 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Statement 1- In vertebrates. the notochord 1s replaced by vertebral column but in
protochordates the notochord remains as 1t 1s.

Statement 2- All vertebrates are chordates but all chordates are not vertebrates

DOBIZD 1: DSFDTL Do) DAY 0D VG B)VHoFAN Aot Arddy BodAD 5
&) £5°5°085 Dot DyADeFAN AT Boied

oo 0% J
DOBIAD 2: ) VSIWS W 570y D 50 Q) 508y VSIS S

Options:
Both statements 1 and 2 are correct and statement 2 1s the correct explanation of statement 1.
v 290300 1 080k 2 DB 0D, DIV 2 VDG 1 L VO oD DI6E

Both statement 1 and 2 are correct but statement 2 is not the correct explanation of statement 1
5 % 00 10BN 2 D6 900V, PIRED 2 BRLIA 1 HD O BN VIO 5°W

Statement 1 1s correct and statement 2 1s incorrect

3 % el 1 D8 90008, DO 2 9N VO 90O 5P

Both statements 1 and 2 are incorrect
006D DT V0 900 5°)
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Question Number : 68 Question Id : 8135611508 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Hydrological cycle is controlled by

DT°DOIT 20 DVODOA AODOBoWE

Options:
Forests

ikl Tty

Grass Land
_ AeZrA0e
2' Fo o

Planktons

DOSTLD

3. ¥

Epiphytes
8 -~
4 % NPV

Question Number : 69 Question Id : 8135611509 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

One of the following statement 1s incorrect regarding the development of foetus by
the end of 12 weeks (first trumester)

12 7070 090830 (006e) @Arnsdw) & 0SB (1Bod) $oi TS 28 50

DIV (Botdoc.
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Options:
First movement of fetus and appearance of hairs observed

| DG AE), SEBE A 75 Bk HBAI L ABYELNW EIDRO

Heart 1s formed in the embryo

) 5 D0G2006° TyEa0 D6 S

Most of organ system 1s formed (limbs and extemal genitalia are well developed).

, 0808 300 ©I0HT0 A6 GEraw (BSaare, B & RoBAIre) DoRFEIT BDSR Do)
3. % i & ®

Fetus develops limbs and digits

. D0CA0S” 5oy B T8 DY, 2,8 Bodozrow
4.

Question Number : 70 Question Id : 8135611510 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

There 1s no DNA in

$08 T°0¢° DNA &°2o0)d8

Options:

A mature Sperill

| OIS BodD Bogsmo

Mature RBC

5 P DBEIB BWoBD DBGESe0

Hair root

3 % oS DuTPVo
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Kidney

4 % Sordhaotio

Question Number : 71 Question Id : 8135611511 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following

Term Meaning
a. Menarche 1. First menstrual cycle
b. Menupause i1. Last menstrual cycle
¢. Amenorrhoea 111. Absence of menses
d. Dysmenorrhoea 1iv. Painful menses

SoBT° VD a’.-é:bdaaé

G0 0o
Q
a. GRDW 1. VG 2200 TS
b. SOHIEH 11, e3200 20 S
C. VBOFTHAWD i1, S00EDEIAL
d. GOdoIrw IV, EPEPSC000DR 0D

Options:

, » (@—ii), (b—1i), (c—iii), (d—iv)
, x (@—1D), (b—ii), (c—ii), (d—iv)

5 » (@—1D, (b—ii), (c—iii), (d—iv)
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4 x @D, (b—iD), (c—iv), (d—iii)

Question Number : 72 Question Id : 8135611512 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 15/are incorrect regarding differences between chordates and non-chordates?

A post-anal part (tail) 1s absent

Chordates Non-chordates
1. Notochord present 1. Notochord absent.
2. Central nervous system is ventral. 2. Central nervous system is
hollow and single dorsal, solid and double
3. Pharynx perforated by gill slits 3. Gill slits are absent
4. Heart 1s dorsal 4. Heart is ventral (if present)
- 5.

Post-anal tail 1s present

5365y 0B T 586y | Serees” b’ 96 57D

=36y =5 546y
1. D030 586 Gotnod I D003 ¢ docd
2. w600 Trvae’ Sof G 2. Bo D) Fod
YR &otod 30 e IR 006

3. dwidy wdsen DAY (03 Gt 3. dwidy WS Goti)

4. Trycohan DBvaNe” Gotnod 4, &G0 oD (&ot)

5, 98 Do 5. &% Gotnod
Options:

only 5

1 % 3G
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land 4
. 1 andaiw 4

2.3and 5
2

. 3 000 5

.4and 5

3
o B
4 2.4 0080 5

Question Number : 73 Question Id : 8135611513 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the wrongly matched gastro-intestinal tract hormone and its function.

& $08T°S" ST 28 BB\ & ool

Options:
Gastrin — Stimulates production of HCI and pepsinogen from gastric gland

TS ~ 260 BoGwdod EE S B20Bw, DNIBS DGV HEDE

1.8

Secretin — Stimulates secretion of water and bicarbonate 1ons from liver

, o DZOD ~ TAAN ol AW, F5T6)DES AL DGV HEBRE

Cholecystokinin — contraction of gall bladder for secretion of bile juice

i §92H3ID — HT-I0ITr) DoEVeDBD P GBI DG BB

Gastric mhibitory peptide (GIP) — mhibits gastric juice secretion

266 PGS DRE — 266 TI5°V JEGVA VB BRB
4, % —
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Question Number : 74 Question Id : 8135611514 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the correct statement(s) regarding the immunity of body:

a) In cell mediated immune system the body fights agamst the pathogens by producing antibodies

b) Short lived immunity found in infants through mother’s placenta and breast milk is called natural
passive immunity.
¢) Structure of antibody was given by Porter & Edelman

d) Surface of antigen contains antibody binding site called Epitope and antigen binding site on

antibody 1s called Paratope.

¢) IgA are common immunoglobin present m blood and pass through placenta

$0BardE" 3000 A0E) HANGESE 33 Do) B Lo PD(en) M bBocsed

) 529 D008 BANGRS SIS’ Brsosop o dofen o SFran

b) 8 S0 BITEsER Vire Yy FAEE5E 6D eotre. 26 prnane’ 8Y araiu
boin oddre e Seurbeed

Q) OGP Aoy g6 wdaL Aeeyd PAFBoam

d) PORIEI P Golt PGP LGS Fomrdy JE'D B PABTAN P G0l VABIS LA
JOT) JPOES'D 2 Botrd

) IgA angSfD 058" Gotran BOL) 2T0IY) THT° WAL

Options:
a. bandc

1 % a. b aB0O3L ¢

b.candd
, » b.cavBowd

Only e
¢ a”EHadd
%
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All statements are correct

4 % ) RODBTED ABADD

Question Number : 75 Question Id : 8135611515 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match column-I with column - IT and select the correct option from the codes given below.

Column -1 Column - II
a. An endothermic animal 1. Seaanemone
b. An ectothermic animal 1. Man
¢. Organism of benthic zone . Lizard
d. Periphyton 1v. Water snail

S0 B DA, POV BT SLVR)A.

>l | e I
2. 90883 20BPHW i ®edArS
b, &riF§ 2odoHen i, AP
. 098 &oko AYHW T
d. DOPERS iv. 30

Options:
. (a—iv), (b—iii), (c—1), (d—ii)

5 % (a—ii), (b—=1);, fe—M); (d—iv)

5 (a—u), (b—m), (=3, (a—mW)
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4 % (a—1i), (b—ii), (c—iii), (d —iv)

Question Number : 76 Question Id : 8135611516 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements regarding inbreeding are incorrect?

1. The mbreeding strategies allow the desirable qualities of two different breeds to be combined.
1. It increases homozygosity.
1. It also helps in elimimation of less desirable genes.

v. Continued inbreeding increases fertility and productivity.

$06) PIBTVS" LodHRINN HBL) SYYT &) D Hiotdod
1. Bott) )68 200 oedeond VLR Jodkrds & DEden HrsdTraw
1. 98 :amo:méam ool
lii. 90 GHAVEAN 5 ANHVW S VoS GHAFAIDEA

IV, 090322330 &§FNotiEan S0 2T Splaly Rle VgV V-l

Options:
1 % (1) & (1v)

5 o @) & (iv)
5w (ii) & (iv)

4w () & (i)

Question Number : 77 Question Id : 8135611517 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Columns of Bertini in human kidney refers to

SPR0D BOTPGD0CAD Dot BB VoeTren

Options:
The cortex extends in between the medullary pyramids as renal columns

1. ¢ d’aﬁ Borre &.‘1)(;55 (0 Q)0 gﬁgw 05.;'.56 oL &ofIP0N

Division of medulla into a few conical masses projecting into the calyces (sing : calyx).

. (3] 8 $02°5°6 T TR DFLoBLG 020 &°3 TSI Gotra

cup-like structure i nephron

QTR Dok (v 8Dy Do) T, £330
3. %

Cells 1n Juxta glomerular complex.

257) HA00er6 DAL FOID 0780 Dot (o) Seen
4.% ®

Question Number : 78 Question Id : 8135611518 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Deficiency of Vitamin C Leads to

DD “C” &S5°Do DD SOOI

Options:
Carotenemia

| % S66°ADosr
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o st'sbdirabé

Scurvy

s T

Rickets

s 858

Question Number : 79 Question Id : 8135611519 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the mcorrect statement about Limbic system:

1) Amygdala and hippocampus are deep structures in the inner part of the cerebral
hemispheres. These complex structures are called the limbic lobe or limbic system.

2) Limbic system along with the hypothalamus regulate sexual behavior.

3) It also regulates expression of emotional reactions such as excitement, pleasure,
fear and motivation

4) It also controls all voluntary and motor functions

BodS H5HP VoroBoc) F0BTAES” VB 5 YIIT) HBocsol.

1) oA, apdy5°00R QI g fivee) dhng) @000 Zrmre. & eriren Socaa §8
D05 fivaw Go odS DR Lotr®

2) 9od§ 5w, BDG[080E S8 FoAs DOGHD Aaogod.
Q

3) BoDS Dy B BO{0NN GBI, HAE, Hao, Edzaw, GOV

DO JoDoGSN0E
4) 9odS H§H Aaods oS SaHORL AoboGwod

Options:

1.8 1
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Question Number : 80 Question Id : 8135611520 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Mandibles are present in the mouth parts of

S8 errre Do PR SOAD 2D

Options:
Bed bug

House fly

2, % &0

Cockroach

2 BosS
3.V ©

Locust

S5°8D

4.% 778
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Question Number : 81 Question Id : 8135611521 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An electron makes a transition from outer orbit (n = 4) to the mner orbit (n = 2)ofa

hydrogen atom. The wave number of the emuitted radiation 1s

:.;Qfaf: VNS 28 avgb ar:r;g 5£5 (n = 4) ol vuéds‘.£5 (n =2) £ 28363

BoHod. 900D &0 DS08%0 as), ddofs ‘f’\)oﬂ}'g

Options:

2R

1.% 16

3R

5 o 16

4R
& 4

SR
. 16
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Question Number : 82 Question Id : 8135611522 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The electromagnetic radiations are in descending order of wavelengths in following sequence

& 808 TS :)msmagoa 36T édodggéu O30 $87Y) MBotsod.

Options:
Infrared waves. radio waves, x-rays. visible light rays

| w DTG SCorTew, BAO3r SGorTen, x-SOrmEeD, d‘ﬁ:ﬁd S0 SCETe

Radio waves, infrared waves. visible light rays. x-rays

, o BCOIr SGorren, HTEm BGormen, Byfiss STod dorren, x-36een

Radio waves, visible light rays. infrared waves, x-rays

5w OG.OIr SCorrew, G)ND6 SPod SOETeD, DUEE BorTeD, Y -SOEFD

x-rays. visible light rays. infrared waves. radio waves

j n X-SOETeD, BINE STod SETe, DTN SdorTen, SE.AIT SGorTe

Question Number : 83 Question Id : 8135611523 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Under elastic limit. the stress 1s

iqg@g“::s 95H°, HBLILAD

Options:
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Inversely proportional to strain

| x D508 DS BrWF SIS &0t

Directly proportional to strain

;v V588 VS ArWTBINS” &t

Square root of strain

L D58 S6JreHD
3 % 0

Independent of strain
DSYDD TTGDEED
4, ® e

Question Number : 84 Question Id : 8135611524 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The internal energy of a gram-molecule of an 1deal gas depends on

WS T80 Uc.’:d;, TPOE0Y A0S, woégé 3S SPGOC WoBo

Options:
Pressure alone
Do S

1. %

Volume alone

5> % WADBITEI0 TG

Temperature alone

- eggje A
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Both on pressure as well as on temperature

Do, eed Cociotdad
4, = -

Question Number : 85 Question Id : 8135611525 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A graph of pressure (P) agamst volume (V) of an ideal gas undergoing an 1sothermal process is

w8 B60) TP BEODWESN) DY ag“g@ LSak s, SETIS(P) Sodasn
00088 (V) HRd® o

Options:
a straight line passing through the origin

| % 0D BTt ' DOV

a parabola

5 % W8 DOBVODHIW

a rectangular hyperbola

3 @ ¥ BEDSEIS"C OBDTDVOHAL

a straight line parallel to pressure axis

4 % DED OIS DATAEINT Gol 28 DOVE

Question Number : 86 Question Id : 8135611526 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The velocity of a body moving with uniform acceleration at a given instant of time * t " 15
10 m.s™*. Five seconds later its velocity 1s 20 m.s~*. The distance travelled in that time 1s

20B(EBANS LOIrR0R) SR SAdw YD TUD “ 73 10m.s ™ D dERe
AEOTS TR iaw 20 m. s &3 TS’ B HOrHold ArEAY dod?

Options:

1 & 75 m

5 % 150 m

3 » 300m

4 % 500m

Question Number : 87 Question Id : 8135611527 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a light of wavelength 300 nm falls on a photoelectric emitter, photoelectrons are
liberated. For another emitter, a light of wavelength 600 nm 1s sufficient for creating
photoemission. What is the ratio of the work functions of the two enutters?

300 nm 36ofigdco 0 570D 2.8 TS &ITOID DSHWIYE, Sﬁaog@
DB, B8 &P 600 nm @doﬁ@_gsn () 5°od) S“ﬁ".)vg«ga &G0 BSOSV
RBT'B008. BN Botd &EFBIVS” DIAVIAD IS dod?

Options:

1 % 132

¢ eil
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Question Number : 88 Question Id : 8135611528 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The velocity of light in a medium 1s half its velocity i air. If ray of light emerges from such a
medium into air, the angle of incidence. at which it will be totally internally reflected. is

28 O5rR8A08" 5708 DA O XA D&, & S6E0 CLHSAN Hot) M &°AS
SN O DS I VORPT 0SS HOIGHAD Botoid?

Options:
15°

1. %

2. v 30°

., 45°

- 60°

Question Number : 89 Question Id : 8135611529 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the radius of an atom is 1 A. the total volume of a mole of these atoms will be

8 DO TG0 1 Awand, a8 e AT TG0 HIVAFHIN Jod?
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Options:

Gialll 25 %107 m®

5 % 2.5 X 10710 33

Y 0 25%x 1078 m?

25%107°m?

4, ®

Question Number : 90 Question Id : 8135611530 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two Camot’s engines A and B have the same efficiency. A4 receives heat from a source at
800 K and rejects to a sink at ‘x” kelvin. B recerves heat rejected by A and rejects to another
sink at 300 K. The temperature ‘x” 1s nearly

Goc) 5°07) &5 Roded A 280k B G¥den dArdaw. 800 K 3¢ eg—‘aomn 2008 A
eEr:Jl foTot) X 2955 G 36 D) FBrI0IrDS DV, 4 B DEIED e&:)l B

[x] £ (A ]
Beromd 300 K 3¢ 0 28S SIS DD, X egge TOQ)T dod?

Options:
1 % 200 K

, » 480K
5 % 350K

, % 515K
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Question Number : 91 Question Id : 8135611531 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Frictional force increases when surfaces i contact are made very smooth. This 1s because

‘é}_)&;,oé SO TU° AR I WO DV Qe Lo DODAH. oS

Options:
of molecular forces

1 POQTED WUV DV

of decrease 1n surface area
5 &0d0 PTV(0 AL DV

of decrease in wrregularities

. STITS(0 B SO
3, % 0

Increases in area
5§ DTO[0S DAOMEY SOD

Question Number : 92 Question Id : 8135611532 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s correct?
1) Kinetic energy of a system can be changed without changing its momentum
2) Kinetic energy of a system cannot be changed without changing its momentum
3) Momentum of a system cannot be changed without changing its kinetic energy

4) Body cannot have energy without having momentum

& 808 DIBTVS’ B PVOIDIG?
1) S53rWe" 2360y G806 28 DD g, (G2 E L6
2) BSDAA0S" Srddy Tob w8 SR awe), (B3¢ Srd
3) (02386" Srdyy Tot H(32 VS, GIMAW 26
4) B30 ST 28 DR 3§ Gotied

Options:

1w |

(B

aJ

Question Number : 93 Question Id : 8135611533 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the dimensional formula of universal gravitational constant(G)?

D3 (OIS fgo"o?:)é QN &mév“ Daed ?
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Question Number : 94 Question Id : 8135611534 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Kinetic energy of a body increases times when 1ts momentum 1s increased ‘n’ fimes.

28 SRV GIDT) ‘1’ 08w DOWA V. T (12 3 0L DAMDD.

Options:
n

1"

2n

3. % VI

4.¢ 1

Question Number : 95 Question Id : 8135611535 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The momentum of a particle is P =2i cost + 2} sin t. What 1s the angle between the force

F acting on the particle and the momentum P ?

28 S0 B3 S3dw P = 21 cost + 2] sint eawd, & $nian p HISH wwo F Sbais
(533§ D330 P & 23068 Eeacto0 8087 o6

Options:
45°

1.8

5> 90°

. » 135°

4 % 180°

Question Number : 96 Question Id : 8135611536 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A hydraulic lift can lift a maximum load of 3000 kg. wt. The area of cross section of the piston
carrying the load is 4.25 X 1072 m? . The maximum pressure the smaller piston would have to
bear 13

28 605 B ddrie (164 ardw 3000 kg. wt. & &PT°Q) AFR AVVEIW ES(E\S
DTV 4.25 X 1072 m2. e0d, 0R) SRS Fdotdre 1 DER3 (ool

Options:
1. ¢ 6.92 X 10°> N.m ™2

> % 13.76 X 102 N.m™2

3 % 9.63 X 10° N.m™?
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4 % 7-82 X 10* N.m ™2

Question Number : 97 Question Id : 8135611537 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The frequency of tuning fork is 500 Hz and the velocity of sound in air is 300 m.s™*. The
distance travelled by sound while the fork executes 100 oscillations per second 1s

W0 Ced) 3‘&:@&5&3 500 Hz 208050 e’ QSD'.S!‘&:&JJ 300 m.s~*. B)SH0kl) w5
806" 100 EvTen QO césl) DOLeEIot) (PG
Options:

1 % 45 m

> 60 m

3 % 30 m

4 % 50 m

Question Number : 98 Question Id : 8135611538 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The slope of curve obtamed by plotting log,(A4) versus time(t). [Hear A 1s the activity of
the sample] represents

S0 (t) DO log,(4) Dewd oY A Iy HEdn T N

SYaDiBR0B. (wese) A DT GI0S), e56(FOS)

Options:
Half life
Q.‘Jg Beh STOAD

Mean life

5w P Bod STLAD

D&Cﬂ}" constant

DD DT0SAD
3.v =

Initial number of atoms
500% DCIEDYY Vo

Question Number : 99 Question Id : 8135611539 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A magnet of magnetic moment M 1s situated with its axis along the direction of a magnetic
field of strength B. The work done in rotating 1t by an angle of 180° will be

CD) 08 EPSIN M (0 28 O 0B T VLI VoD 08 S B B &%
Dotad. Golik &) 8. T 180° Etso GNETAS dodd 1 BADSTY?

Options:
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3. % 0

4 +2MB

Question Number : 100 Question Id : 8135611540 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A uniform rope of length 12 m and mass 6 kg hangs vertically from a rigid support. A block of mass
2 kg 15 attached to the free end of the rope. A transverse pulse of wavelength 0.06 m 1s produced at the

lower end of the rope. Wavelength of the pulse when it reaches the top of the rope 1s

GYEDR BIEoA Mok 12 m TEw o 6 kg GO0 (o) w8 D568 T MY HRrEAB.

g ey 590G 2 kg Gagoed v Bavy. ohdomrtd. S Sod 5% o¢ 0.06 m e:}cﬁor‘@gsannv

0[S B0ofi ) SLNIETO. &8 00 B P 8 I0IYW. T°) e:sﬁonggé;m 1 1304) WV

Options:
1 R 0.02 m

> 0.12m

3 % 0.01m

4 % 0.03m

Question Number : 101 Question Id : 8135611541 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

With resistance P and Q in the left and the right gap respectively of a meter bridge. the null point
divides the wire i the ratio 3 : 4. When P and Q are increased by 20 Q each. the null pomt divides
the wire in the ratio 5 ¢ 6. Then the values of P. Q respectively are

28 Qb6 E g G, & grPus’ SHIM P 28050 Q AT oI EN
Dot SR 3 1 4 AayS° Dsotiod. A\ P Bk Q Wy 28482 20 Q w
Dowd, 3] Dockd) AR 5 ¢ 6 A" DRothHD. B0, SO P, Q Denden dod?

Options:
1 «30Q,40Q
2 % 200,40 Q

;% 30Q,800

4 % 200,200

Question Number : 102 Question Id : 8135611542 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When distance between two-point charges is increased by 10%, the force of mteraction

8o Do) TR mqg c&ru‘:}l 10% 2od, 8 .‘.\JQS D606 LV

Options:
increases by 10%
1 % 10% DM

decreases by 10%

, x 10% 8o
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decreases by 17%

3 17% ég‘bm

decreases by 21%

 21% SO
4. % 0

Question Number : 103 Question Id : 8135611543 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Heat 1s passed through two cylindrical rods of same material. Their diameters and lengths are

i theratio 1 : 2 and 2 ¢ 1 respectively. If their ends are maimntaied at same temperature
difference. the ratio of rate of flow of heat through them is

28 wga»é‘ Ba3rd Babedsd God Ardse saod’ &2 060 260 dod. T¢ TRV
3080k TR Jijydoen HARIT 112 HBoko 2 : 1. T8 DO 28 eg‘ga Bcso 36
Gowd, T8 ol GRUTT OO AN

Options:

1:1

1. %

Question Number : 104 Question Id : 8135611544 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Two concentric coplanar circular loops of radit ry and r, carry currents iy and i, respectively, in
oppostte directions (i; clockwise and i, anticlockwise.) The magnetic induction at the centre of the

loops 15 half of that due to i, alone at the centre. If r, = 2ry. the value of i, /i; =

Boc) D¢ BBt Hedah STs6 M .:1“55)“8*’233 1, Ty QOSSR iy, i, DS
asaam&aw‘ Qo [iy ro.qsc‘.sw, i B‘Tbﬁ}bﬁﬁéﬁ]. Sog I8 T 008 0k 08
20580, 8 Soo IG iy (Srgd) ), WAL 08 HISTRS RN, QB 1, = 2ry
29030@3, f 2 / fl -

Options:

% 2
2.% 0.5

3 % 0.25

4.¢ 1

Question Number : 105 Question Id : 8135611545 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The radui of two spherical conductors A and B are i the ratio 3 : 5. Conductor ‘A’ 15 in air
while B 1s surrounded by a medium of relative permittivity 6. The ratio of the capacitances of
Aand B 15

0ot fivrs 8 Tirsen A 8o B FRTe Ay 31 5 Tirsdn A mdd', Trirsdw B
D FDsd9908 6 o Ao’ &) av. 4 Ddaty B o 33y i

Options:
1.v1:10
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2, % 35

; £18:5

Question Number : 106 Question Id : 8135611546 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In an LCR circuit, inductive reactance and capacitive reactance was found to be equal. The
resistance was found to be 20 €. The probable impedance of the combination 1s

28 LCR Hoaed” 68a( a0 6o, £a08( pabEren ddrdoe. e 20 Q. waws,
o0l ( SVoko CIE), S0 0 Jod?

Options:
Zero

| % éJ"r‘b?Sa

, @ 20Q
5 x 40V2Q

4 % 400Q

Question Number : 107 Question Id : 8135611547 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A copper rod of length 2.5 m and an wron rod of length 1.5 m having the same areas of cross
section are connected in series. Thermal conductivities of copper and iron are respectively
400 and 80 SI units. The equivalent conductivity of the composite bar i SI unit 1s

25m T 60 o 668 1.5 m Tk, 00d MEEH\EITORW 0 20DED b’
SO Th, BRI GRTERSEIRD S0 400 2Bak0 80 ST DATEED. Woaivg e
300 GRTTSSW S| DTV

Options:
. % 500

L w 240

Question Number : 108 Question Id : 8135611548 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A ball 1s thrown vertically upwards. Which of the following graph represent v — t graph of the
ball during its flight? (air resistance 1s neglected)

28 £08 D& DHT i8S VBT, $0b TS wod AT v — t D DE?
(r® B30 HOARS’S S8 uEdd )

Options:

1. %
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v
A
S 3
u 4
> > 1
2. *
by A
< >t
3. %
15"
4. ¢

Question Number : 109 Question Id : 8135611549 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When a simple pendulum s taken from equator to poles. its period

28 v;,’.mé‘wal ArS0c[0 Aol G)TL B éb@@oa:;)m, ANEIRIEEIR W

Options:
increases
Faloblabla STt

decreases

SHOB008
2. ¢ 50

remains same
B0y G0t

becomes zero

4 %\J"é}ga 29 Bod

Question Number : 110 Question Id : 8135611550 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Heating of water at atmospheric pressure is an

TTIGEIAD DEDID S5 HOD DABINL IS

Options:
1sothermal process
RATHS DI

isobaric process

- 5 -
5 o PDDED DS0%
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adiabatic process
g&“fgs Do

1sochoric process

4 % QD DBATe DSAD

Question Number : 111 Question Id : 8135611551 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A copper rod 1s moved in a magnetic field. The charge developed across its ends will be

proportional to

28 O°0 86D 28 oY) 08 £B3WE" SBYoDWEIB. T orhv 6| GdyD) ooy

530 &) 093085 Ardaraane’ Gotnod.

Options:
Magnetic flux
» woﬁo&baé 9D T"ZI S 00

Rate of change of magnetic flux

€90, 08 VDTITPEIN HrEdy Gew
v

(velocity of the rod) ™!
e (Sa D)™

(magnitude of the magnetic field)™*

i (29050F) 088 ZBH0 DBATEaAW)
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Question Number : 112 Question Id : 8135611552 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Three voltmeters all having different resistances are joined as shown. When some potential
difference 1s applied across P and Q, their readings are V,,V, and V, respectively. Then

DY AT (0 S Sg NV HOANS EFDD IS0 LoDaddd. P
$8a30 Q © Soc Sodd TOIAHS Bcso Ser BY, T8 Svden Sdrr V, V, Sodokn
Vs &0 00008, 308708 8 NS(S0?

00

P o— Y,

(1)
"/

Options:
1 % Vi=V;
) % V, =V,

3 V1+V2:V3

4 % V]_‘*‘Vz}Va

Question Number : 113 Question Id : 8135611553 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The fringe width in the interference pattern obtained on a screen kept at a distance of 1.2 m
from the shits in a double slit experiment when light of wavelength 560 nm 1s used 1s 0.48 mm.
Then find the separation between the slits.

a0l 208 WOE HAFAANS’ TE T0d So30:300 560 nm. 86 09ge &0l 1.2 m
Ar6sE° GodRYE D6\GH 318800 QP[rae’ Do deevy 048 mm wand, DY

mqg 29030

Options:

1 % L.2mm

5 % 0.8 mm

3 1.4mm

4 % &mm

Question Number : 114 Question Id : 8135611554 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two fixed point charges +4q and +q units are separated by a distance of a. The distance.
where the resultant electric field intensity 1s zero. measured from charge +4q 1s

+4q 208050 +q AL (10 Botd Ego Dotred) BTV a Brdod’ DT Gotrd. +44
D30 Wok. Jod GrGAw S 00 DANS o D Ao ©PBB?

Options:
2a
1.¢ 3

a
2. % 2
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Question Number : 115 Question Id : 8135611555 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a position dependent force F = 7-2x 4 3x* N acts on a small body of mass 2 kg and
displaces 1t from x = 0 to x = 5 m. calculate the work done. (in joules)

2 kg @03 0 28 D) HWPR F = 7-2x +3x° N 1 ardoddd wwdn DS, x =0
ot X =5m D gu.-aggoéu D08 &8 DS0HS’ dodh DA 20008 (Frend’)?

Options:
1.% 70

Question Number : 116 Question Id : 8135611556 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A rod of length 1 m 1s kept inclined at an angle of 60° with the uniform magnetic field of 0.5T.
If the rod is moved with a velocity 10 m.s™* perpendicular to the field. the induced emf is

0.5T DSBS w0sbF) 08 Edot’ 60°0 E'tao BoknerT Tevrr 1m Te) 28 $6D

Gotred. & 86 10 m.s™! 3o EgrAS wonor SB8R, H68 DT LS w0 Jod?

>
60" >
0 >
B
>
e
Options:
1. % 10V
3 433V
4. % 259 Y

Question Number : 117 Question Id : 8135611557 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the current gain of a common base circuit 1s 0.97, find the current gain of common
emitter circuit.

6:0) . G0 S0 DTTHB 0.97 wowd, &) G GO0 S0050:0005°
DT (edoo.
Options:
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- 100

, % 643

Question Number : 118 Question Id : 8135611558 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The average energy per mole of an 1deal gas of number of degrees of freedom equal to n at
temperature T 1s

R(Bod Do o n (0 WS escédg JTOINY) S, WS 2 T G.gfj@ .ﬁg ST IV
3S D Arotd) ArGaw

Options:
RT

1 % 2n

- nRT

2RT

n

NRT
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Question Number : 119 Question Id : 8135611559 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Four capacitors of 25 uF each are connected as shown in the figure below. If the D.C.
voltmeter read 200 V, charge on each plate of the capacitor 1s

25 {F 38Ry o e 3raegiy $9b% Soairdy s’ trduded. D.C. 5¢
ot 200 V 8o om0 08 98 S D Jod 5¥0 Gotiod?

200V
25 uf 25 pk
|| ||
|| )
| |
25 uF 25 uF

Options:

i BRAGTVC

5 o SR

=l
s u ZRWL

4 8 5%1072C

Question Number : 120 Question Id : 8135611560 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the time period of the body (mass m). shown in the figure, r

when displaced slightly in the vertical direction. g X
i B

Qe SIS ga Bo3A0 SLABRIY YD, DLSS’ SErdD z-['_j

M @03 (0 S AE); BI6R STV BVDoC..

Options:

m
2w |=—
~ 2k

1. %

3Im
21 ’—
2. % .
am
21 }—
2k
3. ¢
3m
TT —
\) k
4, %

Chemistry
SectionId : 81356131
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
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Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135611561 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the molarity of HCI liquid. given its density 1s 1.17 gm/cc

1.17 gm/cc Fodd o HCl Gdo aing), 20erdeh edotsod.

Options:

% 4210 M

, o 32.05M
2 % 36.50 M

4 % 32.60M

Question Number : 122 Question Id : 8135611562 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Nuclear charge increases with increase in

RS SoBds e3DFo DEABRD

Options:
Ionization enthalpy

i AN DBND (A" IESE) Dordy
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Atomic number
DGATED *@n&,)}g

Atomic size
L 0080 D0ST 0

Atomic radii

HOAT LD Fs&do
4. % @

Question Number : 123 Question Id : 8135611563 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many of the following species have formal oxidation state of Nor Pas ‘45"

N,0s, NO3, NO;, [PO,J3", P04, P,0so, H3PO;

$08 O’ N e P £ +5 FTron 63,560 2 (o 270w ) ?
N,05, NO3, NO3, [POJ*", P,05, P40y, H3PO;

Options:

1.“2

Question Number : 124 Question Id : 8135611564 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a reaction A — products, the value of equilibrium constant ‘K’. when the reaction
reaches completion, would be close to which among the following?

A - &3R¥ ), B3 w8 B6f TEY Y8 VYN 88, &Y mmwiga ?gvos;‘m
‘K’ Dend $08T08" B8 éﬁdfﬁ GOCIN?

Options:

3
1 & 10

2. ¥

g

1077
4, ®

Question Number : 125 Question Id : 8135611565 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The products P and Q of the following reactions. respectively are:

Sod VO[O ES\T™) 0 P 00030 'Q e SR

OH CH3
| Cu | Cu
CH3CH2CHCHz3 > P H3C— C—CHs > Q
573 K | 573K
CH3
Options:
1. ¢
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Q: (fHS
CH3CH>COCH:;3 H3C—C=CH,
e Q: (l:HB
CH3CH2COCH:z3 H¥.— CI‘ — RO
» H
e
P: Q: C|‘H3
CH3CH>COOH HiC—C=CH>
3. %
2z Q: (Ifl.'Hz
CH3CH>CH2CHO O —C—rHO
4, %

Question Number : 126 Question Id : 8135611566 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Orlon 1s a polymer of which monomer?

D S8 dwe), IO D wTS Wotrdd?

Options:
Styrene

Vinyl chloride

i i DS §0&
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Acrylonitrile

285 De3e5
3.¢ & %G

Butadiene and adipic acid

n wéerawﬁ S0B030 C.dS LB

Question Number : 127 Question Id : 8135611567 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

At constant pressure and temperature, the rates of diffusion of N,0 and C0, gases are

related as which among the following?

26 e dor SETO 5G NO, 200080 (0, TAPL TFODY Gewew (8ol SodTSe’

D8 dzAn?

Options:
They have same rates of diffusion
) DA T DD Bewew $9A Gocod

1.

C0, diffuses faster than NO,

e NO, 87°) CO; DA T°{d0tsdD

N O, diffuses faster than CO,

€O, 8T°YNO; S a"sbm:.ﬁom
3. %

Cannot be predicted

 QUOoTIT A
4.% @
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Question Number : 128 Question Id : 8135611568 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following situations occur when ferric chloride is added to excess hot water?

285 §0 & 088 3¢ AS" SHHHYE Sobd HOVBVE' DB 2CLBVR?

Options:
A negatively charged sol 1s formed
2VETFDPoS EXCD FeS DBy

1. %

A positively charged sol of hydrated ferric oxide 1s formed

STrD%0 (O esg DB &3 \E FrS DGO
2.

There 1s no charge on the colloidal particles

3 % Sorond SO 8o Gokidd

Adsorption of OH™ from water occurs

4 % 8 ol OH™ 003D 08T 20

Question Number : 129 Question Id : 8135611569 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the 1deal gas equation, PV = nRT. the value of the universal gas constant would depend
only on

PV = nRT &5656 70803 2DEGEAS” FOBE o Q008420 Deoid SJVAW
2 800 DCIA.

Options:

1.%
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The nature of the gas
203 "nasaraan

The pressure of the gas
5 % TPOHD DEDIAW

The units of the measurement

S'odde C3E). DATETD
3. b

None of these answers are correct

- D 2T°eN VOADIA 5D

Question Number : 130 Question Id : 8135611570 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the work function for Caesium (Cs) atom 1s 1.9 V. then find the approximate value of its
threshold wavelength

2aD0(Cs) DT H HaDo 1.9 eV wand, T 8601300 620 Do

ffedotdod..
Options:
1 % 723 nm

> % 480 nm

3 654 nm

4 % 225 nmm
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Question Number : 131 Question Id : 8135611571 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following represents the structure of the principal product in the given reaction?

& B RAED méé‘ DO\ DR G S0 g o) 0350 Sobd TS 8 ?

Me

Options:

Me

|

/”/w

CH; {l'li—(lh
1. % CHs

Me
- B

Me

Br

3. %

CHs

+ HC—C—CHBr

|
H

Anhyd. AIC];

E‘-'i?g AlCk
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I

C({CH:)s

Question Number : 132 Question Id : 8135611572 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the equilibrium constant for the formation of NO, from NO and 0, at 298 K as per
the reaction given below. Given AfGU( NO,) = 52 kl.mol ™%, &fGO(N 0) = 87 kJ.mol ™.
A¢G°(0,) = 0 kI.mol™* (Antilog of 0.122 = 1.3210)

298 K 3G NO, 0, $8% NO, 801768 fvotsofieids 0[ #3082 Ao ftocdod.
$grosdw A,G°(NO,) = 52 kl.mol™*, A,G°(NO) = 87 kl.mol™* &o8asw A,G°(0,) =
0 kI.mol™t. (osroe5°A (0.122)= 1.3210)

1
NOg+ 029 = N0z g)

Options:

. 6
- 1.32 X 10

: PR ~
5 u 132%10

104
. o 132% 18

: D
; u 182510
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Question Number : 133 Question Id : 8135611573 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When 50 ml 0.1 M HCl 1s added to 50 ml 0of 0.01 M KOH. the pH of the resulting
solution will be

50 ml © 0.01 M KOH € 50 ml © 0.1 M HCl $e0drr D646 $8 gradmo pH =

Options:
4

1. %

Question Number : 134 Question Id : 8135611574 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

M gS 0, 1s soluble 1n water because

MgS0, D&S® 8. IS 5620

Options:
Hydration energy 1s higher than lattice energy

s3S ¢S G0 BS 8D
11&&?0 S ST°) PG S D)

Lattice energy 1s higher than hydration energy

TEAD IS ST°) FVS IS QYD
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Lattice energy is equal to hydration energy

- 208 3S AN $3S VAo

Mg** and SOZ™ Ions have comparable size

w Mg®* 208050 SO0F~ easrden o GHD DI’ &) aw

Question Number : 135 Question Id : 8135611575 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

What is the hybridization of carbon in graphite?

T8 & 576y A0S, VoSESro & ?

Options:
1. % SP

2 % SP°

2
3. v P

4 % dsp°

Question Number : 136 Question Id : 8135611576 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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How many geometrical 1somers can be written to [Co(NO,); (NH3)3]?

[Co(NO;); (NH3);3] £ a9y £ 5"‘:‘-‘&?‘59—” &Q&&ﬁn?

Options:

1.¢ 2

Question Number : 137 Question Id : 8135611577 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following monomeric units undergoes anionic polymerization in the
presence of RLi?

S0 86" RLi D0£508° es30irAE FO0e0t0d” re"S S8 0 DA?

Options:

. % CHy = CHCHy

2 v CHZ — CHCBHS

, x CHy=CH—0—CH, — CHj

4. % CHZ = CHCGHII
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Question Number : 138 Question Id : 8135611578 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 1s true about empirical formula and molecular formula?

A. Both are same
B. Empirical formula tells about percentage of various elements in a compound
C. Molar mass can be determined from empirical formula

D. We can’t determine molar mass using molecular formula

RS b‘daéar S08050 m&m&vuﬁ Rot)oBot) $08 TS B D2&w?
A. Botd 286
B. }‘béu&%&mﬁ‘ &) DD ArVSTD TEY) BATS 3‘&)&0‘ 3 IIDR) 0 WA
C. e0ers 3‘6}&0" Dol Arerd BS[o°3 :)g'&m:::m')

D. wm&do&ey Aol Arerd ¢33 Dgaoééim

Options:
A

1. %

Question Number : 139 Question Id : 8135611579 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

Orientation : Vertical

el



The shape of XeF, molecule is based on the fact that it has

XeF, 9t 58,8 &S 2 TS DC. God

Options:
4 bond pairs
. 4 ol 2ok

1

4 bond pairs and 1 lone pair

5 % 4 2o 200080 1 20080 2208

4 bond pairs and 2 lone pairs

5 o F W06 20D 2 2,000 Botew

4 bond pairs and 4 lone pairs

4% 4 2ol 2ot 4 2,080 200D

AP EAMCET 2020

Question Number : 140 Question Id : 8135611580 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the product of the following reaction.

808 B6(S° &) 30 DS ?

OH

)\ + D0 —— ?
Xy

Options:
@)

s,

HiC CD3
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OD

D3C /I\CDz

2. %
OD
PR
3. ¢
OH
| DHgC/]\CHD
4, %

Question Number : 141 Question Id : 8135611581 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a reaction not mvolving any gases. the rate of reaction does not depend upon

TOI0W 3"%%:) 560 ohog) Jew imw-’osa» 2 B8 DER

Options:
Pressure

b DEDID

Temperature

- adns
2‘ -~ (>}

Concentration

3, & e
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Catalyst

- &3PS
4. % ~=

Question Number : 142 Question Id : 8135611582 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Predict the correct order of metallic character among the following

$0BI7IS” &I DD CANE), VO £50°) BUDC.

Options:
1 % Cu >Ag > Au > Rg

> ¢ Rg > Au > Ag > Cu
3 % Au>Ag > Cu > Rg

4 ® Rg > Cu>Au > Ag

Question Number : 143 Question Id : 8135611583 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the solubility of a M, S salt is 3.6 x 107>, find its solubility product.

M,S 030 30E) Gresane 3.6 X 107° wand oo gradabe® R0 dod ?

Options:
I
| .
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1.86 x 10717

1.86 x 10713
3. ¢

: —313
, x 172%10

Question Number : 144 Question Id : 8135611584 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Under which of the following conditions. a gas deviates most from ideal behaviour?

3068 O DBRBVY’ 28 TN BEB) DI ol AT DBVT) BrYAE?

Options:

Low pressure. Low temperature

8
: g 2N DCERAD, R ag’(je:b

High pressure. High temperature

DS DESH, &S edne
2. % =

Low temperature, high pressure

o0y &X'(S , ORS DEDIL
3. ¢ -

High temperature. low pressure

S &A'(S, Oy DEDZW
4. % =

Question Number : 145 Question Id : 8135611585 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

0.35 g of an organic compound n Duma’s estimation for nitrogen gave 55 ml of nitrogen
at 300 K and 715 mm pressure. If aqueous tension at 300 K is 1 5mm of Hg pressure, the

percentage of nitrogen in the compound s

DB o S6LD T DRI :sgw 0.35 g © 28 86y Ry ¥ 300 K,
715 mm &R0 36 55 ml 28D oo B208. 300 K 3¢ A zwerywédo

15 mm Hg eond, e "n}m&%‘%né“ TR VoM Tdo

Options:

: » 1550

, % 18.60

3« 16.46

4 w1723

Question Number : 146 Question Id : 8135611586 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If the pH of a monobasic acid 1s 2.0 at 25 °C. the osmotic pressure of its 0.1 M solution

will nearly be equal to

25°C 56 DETE VAW aws), pH =2.0 vand 0.1 M groedn aws), 3Trd0e
2C¥0 TTY)

Options:

| % 3-Datm
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% 4.7 atm

3 @ 2.6 atm

« 1.8 atm

Question Number : 147 Question Id : 8135611587 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arrange the following isomers of C¢Hy5 . i increasing order of their boiling points.
I) 2.3-dimethyl butane
IT) 3-methyl pentane

I1I) n-hexane

$00 FEyTOR T wrany FI T eBirn g8 06y 0d.
D) 2,3-G P erfB
1) 3- DBS D3
I1I) N-338y

Options:

o lEN &M

) u WAL ST

3 x 1 < I <II

o 11 <1<
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Question Number : 148 Question Id : 8135611588 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An example for homogenous system 1s

RBaD (FrRD) SIDVD w8 ST

Options:
Cod liver o1l

s°& 056 esoed

1. %

Vanishing cream
. T°A0h S

Sugar solution

L ©,0 Tdee

Muddy water
. BDBG D

Question Number : 149 Question Id : 8135611589 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

How many moles of I, are liberated when 1 mole of K, (7,0, reacts with K1 in an acidic medium?

w8 36 K,Cry0; 63 atradssnd’ K1 & 6 Tod ) Arevw I, Do erbi?

Options:

v %
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Question Number : 150 Question Id : 8135611590 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Assertion: The majority of noble gas compounds are those of xenon (Xe)
Reason: Xenon has lowest 1onization enthalpy and can be easily oxidized by oxidizing

agents like oxygen and fluorine

()D800: OIBS &I)N Toh0 DB VTW BTD D(Xe) BodD.
S*600: AT £ B8 B8 S ANJEAS ambh &od B0k B8y, 28R Hot)

38 \$0E00E XVZoIT 331880t3eCIB.

Options:
Assertion and reason are correct. and reason 1s the correct explanation of assertion.

| o BDE00, S6r0 RO 20BaK S6E0 B)AS6HRL VBT Diddodod

Assertion and reason are correct. and reason 1s not the correct explanation of assertion

, % B)DE00, S6r0 HOEDD B S0 B)IEEHR VBT BT

Assertion 1s correct. reason 1s wrong

3 C5yDEGE POIB, 5680 32Dy

4. %
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Assertion 1s Wrong. reason 1s correct

B3yDEBE B, SGE0 POTDA

Question Number : 151 Question Id : 8135611591 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Formic acid and acetic acid can be distinguished by which of the following?

$oBTIS BA &HArA) 38)5 o 2B JNBS esrwR DT MHBesvE?

Options:
Iodine and alkali

Tollens reagent

562353 s°0So
- e

NaHC 05 solution
. NaHCO; oo
3. " =

Can’t differentiate using any known reagent

. OO (Borie) w&casan
4, %

Question Number : 152 Question Id : 8135611592 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following order of energies of molecular orbitals 1s correct for N,?

So8 et 30, Erd) 38 SNV N, L DB WONJG IB?
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Options:
" o (n2py) < (02p;) < (w'2p,) ~ (7 2p,)

, o R0g) =/ (000) = 00 ® )
3 % (m2py) < (02p;) > (W'2py) ~ (7w 2py)

5 u 2Ryl 2 (020) < @) M G

Question Number : 153 Question Id : 8135611593 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

How many unit cells of KBr are present in 1 mm? of grains of KBr. KBr grows in a NaCl
type crystal and has density of 3 g/em®. Molecular weight of KBr = 119 g/mol

1mm?® Sewdpen o KBr & ) KBr c5arde5 3¢5 e &) D? KBr. NaCl 2y88m 3O
DSB8 280 &R Foe 3 g/cm’. KBr eenerdsw 119 g/mol.

Options:

18
, » 38x10

L % 2.6 %10

1n20
3 % 45 %10

1n21
4 % 20%10
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Question Number : 154 Question Id : 8135611594 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct decreasing order of stabilities of +3 oxidation state of group-13 elements 1s

+3 093,800 DI 4rD-13 Jres DT WO I o B
Options:

r T e ALY g™ ST B

5 % /_”3-5- ~ Gﬂ‘3+ ~ fﬂ3+ ~ TI3+ ~ B3+

3 & TPT > I > Ga®" > AP > B™

4 % AT > B3 > Ga®t > 3t > T3t

Question Number : 155 Question Id : 8135611595 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following 1s incorrect about photochemical smog?

A. Occurs in cool and humid climate
B. Contains mixture of nitrogen oxides. volatile organic compounds like PAN. Acrolen, etc.
C. Itis also called Los Angeles smog

D. It 1s oxidizing in nature and hence called oxidizing smog

5°08) G0 zréﬁsJ Dotodot) S TAS" A DB 5°?

A 09, 8 B 0808 A6y

B. D' eFykw g, PAN Sofd erigydw §6)d v e, 2609 Awdorhd
$ha0cHR

C. &R Boazeﬁh 3‘&5 T D0ILIED
D. 13%35059 Ao $DAAVOCE S0 ué;)som 3‘&6 ™ He0Sed08
Options:

1w B

4. %

Question Number : 156 Question Id : 8135611596 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following arrangements is correct?

& S0& VDD T°3e5° DA DBADD SHo?
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Options:
F, > Cl, > Br, > I,  (Electron Gain Enthalpy)
E>CL>Br>L (DU miry dowedy)

1. %

FzN 50 >¢ (Ionization Enthalpy)

,yF>N>0>cC (e903°DEBes/ BORBHRD oD

C > B > Be > Li (Atomic Size)
~C > B >» Be > Li (D630 HB&Ae0)

I, (Bond Dissociation Enthalpy)
I, (2006 bﬁads an@"’b))

Fz > Clz > B?’z
Fz = CIZ = BI‘Z

>
%

4. %

Question Number : 157 Question Id : 8135611597 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A first order reaction completed 90% in 90 minutes. Hence. time required to complete
50% of the reaction is approximately minutes

8 DED 808 $56{ 90 AdwAwee” 90% P Lo, Lond, b 50% Jrd

LS D TTOA aaren

Options:
1 % 50

> % o4

3 % 02
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a.v 27

Question Number : 158 Question Id : 8135611598 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
In which of the following processes. entropy of the system increases?
I- Temperature of a crystalline solid 1s raised from 0 K to 115 K

II- Liqud crystallizing to solid
[II- 2NaHCO;3 (5

Na,CO03 (5) + COz () + H;0 (g

IV- Vaporization of a liquid

208 DS’ SIS Doty DBF Drren DA ?
L 0as6 0y 8830 &X'68 0 K 200 115 K £ DodR) &

I 208 GBI, IDEGIT SEGLEL BN

III. 2NaHCO; (5 Na,CO03(s) + CO; (g) + H20 (g)

IV. @530 e7enZB50:300 BodS)

Options:
1 % ILIII & IV
2 % LII &III

s % LI&IV

4o LIT&IV

Question Number : 159 Question Id : 8135611599 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct [IUPAC name for CH, = CHCH,NHCH; 1s

CH, = CHCH,NHCH; S 20 00 IUPAC J°020

Options:
allyl methylamine
TS DS D

2-amino-4-pentene

2-dT-4-208D

4-amino pent-1-ene

4-d Dot5-1-&45

N-methyl prop-2-en-1-amine

4 o N-38 FD-2-5:5-1-20D

Question Number : 160 Question Id : 8135611600 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a 4-atom umit cell. where all positions are occupied by A atoms, the body centred octahedral
hole 1s occupied by B atoms of appropriate size. The void space per unit volume of such unit

cell in percentage is

o) gv;m A DEITENVE DodWEN 4 DESTEY P S & w8 WodkEodS
SROVE Go@idnd BAD DBFAND) B HEAFENPVE VoA, 8 o) AP
N &5 DA 0D DBATEANL (R e DAIAN WS TSI
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